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2,376,575

H16. 4. 1| 8,400,000| H16. 4. 9| 4,200,000| H16.10. 8 | 4,200,000
H16. 4. 1| 5,880,000| H16. 4. 9| 2,940,000| H16.10. 8 | 2,940,000
H16. 4. 1 | 5,040,000| H16. 4. 9| 2,520,000| H16.10. 8 | 2,520,000
H16. 4. 1| 4,200,000| H16. 4. 9| 2,100,000| H16.10. 8 | 2,100,000
H16. 4. 1| 2,520,000| H16. 4. 9| 1,260,000| H16.10. 8 | 1,260,000
- H16.12. 1 | 2,800,000 H16.12. 8 280,000
H16. 4. 1 840,000| H16. 4. 9 420,000| H16.10. 8 420,000
H16. 4. 1 840,000| H16. 4. 9 420,000| H16.10. 8 420,000
H16. 4. 1 840,000| H16. 4. 9 420,000| H16.10. 8 420,000
H16.12. 1| 3,080,000 H16.12. 8 | 3,080,000
H16.12.20 | 2,240,000 H16.12.22 | 2,240,000
H16.12.20 | 1,120,000 H16.12.22 | 1,120,000
H16.12. 1| 2,520,000 H16.12. 8 | 2,520,000
H16.12. 1 | 3,920,000 H16.12. 3,920,000
41,720,000 14,280,000 27,440,000
( )
H17. 4.28 | 8,400,000( H17. 5.23| 6,192,078| H17. 5.30 | 2,207,922
H17. 4.13 | 5,880,000| H17. 5.23| 5,789,169| H17. 5.27 90,831
H17. 4.28 | 5,040,000( H17. 5.23 | 2,845,451| H17. 5.26 | 2,194,549
H17. 4.18 | 4,200,000 | H17. 5.23| 4,049,622| H17. 5.26 150,378
H17. 4.27 | 2,800,000| H17. 5.23| 2,366,099| H17. 5.27 433,901
H17. 4.28 840,000| H17. 5.23 822,442| H17. 5.30 17,558
H17. 4.28 840,000| H17. 5.23 519,298| H17. 5.30 320,702
H17. 4.27 840,000| H17. 5.23 839,859| H17. 5.30 141
H17. 4.28 | 3,080,000| H17. 5.23 201,286| H17. 5.30 | 2,878,714
H17. 4.20 | 2,240,000f H17. 5.23 463,894 H17. 5.30 ( 1,776,106
H17. 4.20 | 1,120,000| H17. 5.23 0f H17. 5.30 ] 1,120,000
H17. 4.28 | 2,520,000| H17. 5.23 297,471 H17. 5.30 | 2,222,529
H17. 4.15] 3,920,000| H17. 5.23 362,355| H17. 5.30 | 3,557,645
41,720,000 24,749,024 16,970,976
2,376,665
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30 x2 = 600
470 x2 = %40
109 10. 4 10. § 87,940|H16.10. 1 41,800 87,940( 87,940
3,000 x3 =9,000
14,800 x 2 =29,600
87,940
87,940 87,940/ 87,940
87,940 87,940/ 87,940
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W x2 = 60
40 x2 = 90
30 x2 = 660

B-3 11.18 11.20  86,100|H16.11.18 B0 x2 =47$ 86,100 86,100
3,00 x3 = 9,000
13.300 x2 = 26,600
86,100

86,100 86,100 86,100

86,100 86,100 86,100
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7,230 x2 =14,460
13 5.7 17,460(H16. 5. 7| 3,000 x1 = 3,000 17,460 17,460
17,460
300 x2 = 600
310 x2 = 740
1,930
41 7.14 7.1 99,870|H16. 7.13 61,000 99,870 99,870
3,000 x3 = 9,000
13,300 x2 = 26,600
99,870
117,330 117,330| 117,330
117,330 117,330] 117,330
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110 5,000|H16.12. 3 5,0000 5,000
111 32,000|H16.12. 3 32,000 32,000
8,590 x 2 =17,180
123 1.9 1.13 85,380|H17. 1. 6 3,000 x5 =15,000 85,380| 85,380
13,300 x4 =53,200
85,380
122,380 122,380| 122,380
300 x2 = 600
340 x2 = 680
44 7.14 7.1 143,330|H16. 7.12 106,450 143,330| 143,330
3,000 x3 = 9,000
13,300 x2 = 26,600
143,330
300 x2 = 600
250
15,850
83 10.18 10.21 537,000|H16.10.15 110,400 537,000/ 537,000
3,000 x4 = 12,000
13,300 x 3 = 39,900
a ) 179,000
179,000 x 3 =537,000
300 x2 = 600
670 x2 = 1,340
200 x2 = 400
47 7.20 7.23 597,420|H16. 7.16 144,900 597,420 597,420
3,000 x4 =12,000
13,300 x 3 = 39,900
a ) 199,140
199,140 x 3 =507,420
30 x2 = 620
470 x2 = 940
5,980 x 2 = 11,960
144 2.21 2.22  81,220[H17. 2.18 18,400 81,220 81,220
3,000 x2 = 6,000
13,300 x1 = 13,300
81,220
1,358,970 1,358,970| 1,358,970
1,481,350 1,481,350| 1,481,350
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5,12 8 37,580|H16. 4.30] 37,580 37,580
5,12 18 31,460|H16. 5.31] 31,460 31,460
5,12 24 21,770|H16. 6.11] 21,770 21,770
5,12 28 32,860|H16. 6.28] 32,860| 32,860
5,12 42 32,520(H16. 7.30] 32,520| 32,520
5,12 52 28,140|H16. 8.30| 28,140| 28,140
5,12 58 31,810{H16. 9.27| 31,810/ 31,810
5,12 68 37,935|H16.10.29 37,935 37,935
5,12 81 45,980|H16.11.26) 45,980| 45,980
5,12 96 21,620|H16.12.22 21,620| 21,620
5,12 98 36,530|H16.12.24] 36,530 36,530
5,12 113 28,140(H17. 1.28] 28,140| 28,140
5,12 133 34,610(H17. 2.25] 34,610/ 34,610
5,12 150 33,910{H17. 3.30] 33,910/ 33,910

454,865 454,865| 454,865

454,865 454,865| 454,865
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MW x2 = 60
M0 x2 = 1,480

6.28 130,780|H16. 6.25 9,100 130,780| 130,780

- , - 6. 3,000 x3 = 9,000 , :

1330 x2 = 26.600
130,780

130,780 130,780 130,780

130,780 130,780 130,780
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2 ASA 4,477(H16. 4.25 1,470 1,470
10 ASA 4,447|H16. 5.31 1,470 1,440
13 ASA 4,477|H16. 6.26] 1,470 1,470
16 ASA 4,447(H16. 7.25 1,470 1,440
20 ASA 4,477|H16. 8.26| 1,470 1,470
23 ASA 4,477(H16. 9.25] 1,470 1,470
26 10 ASA 4,447|H16.10.25] 1,470 1,440
29 11 ASA 4,807|H16.11.23| 1,800 1,800
32 12 ASA 4,807|H16.12.26| 1,800 1,800
36 ASA 4,477|H17. 1.25) 1,470 1,470
39 ASA 4,477|H17. 2.26| 1,470 1,470
42 ASA 4,477|H17. 3.26] 1,470 1,470

54,294 18,300, 18,210
54,294 18,300, 18,210
2,412,659 2,376,665 2,376,575
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